=LPDB

*UXSD 5R]NiDG +,6 O - 7\J
o
™
7\6] 7\G] 7\J
3URPRFID DUFKL.ZyZ Z 3URPRFID DUFKL.ZyZ Z . 3UJHGPIRI GR Z\ERUX
VSRHFTHEVIZIH NRQZ VSRHFTHEVIZIH NRQZ 1 NRQZHUVDIRUXP GU O,IN
GU &JHUQIHFND  +DEHUNR GU &JHUQIHFND  +DEHUNR 3URPRFID _DIDUJ\QD =DICFID RQ
$QQD =DICFID RQ UQH $QQD =DICFID RQ UQH DIFKIZyZ Z| IQgH  +60 =
=z +60 = +60 = VSRIHF]HEV
L 1ZIH
4 NRQZ Gl
N GIXGQLFND
ODUDEF]\N
-DURIQD =
DICFLD RQ
IIQH
+6 0
7\ 7\ 7\ 7\
6IDQGDUN]DFID RSLVX 6HPLQDUXP = \NiDG PRQRIIDI 1Z ] 3U]HGPLRI GR
DUFKIZDIQHJR iZ GU PDJLVIHIWNH GU VHPLQDUXP PDJLVIHU Z\ERUX Z\NiDG PRQRJUDI
KDE =JLZRN.-XID SIRI KDE TDELEVNL *UJHJRU] Z Gl KDE TDELEVNL VSHFIDI] GU KDE ™ XUEDV
8- =DICFID RQ IlQH SURI 8-" =DICFID RQ *(JHJIRU] SURI 8- =DI ODIJRUIDID SURI 8-~ =D
A +60 = IQH +60 = CFDRQUQH +60 ICFDRQUQH  +,6 O
o TN JRG] :INJ  JDICFD Z E :
14 GRGDINRZR Z F]ZDUIHN | NI Z F]ZDUHN N JRG]
T Z SlalHN JRG]
7\G]
76l GHPLQDUXP
6HPIQDUXP PDJLVIHIWNH GU
PDJWVIHWNIH GU KDE TDELEVNL *UJHJRU]
KDE TDELEVNL *U]HJRU] SURI 8-" =DICFID RQ
SURI 8-" =DICFID RQ IQH +60 =
IQgH +60 =
7\ 7\ 7\
4
L \QIREURNHUVIZR 3URPRFID DUFKL.ZyZ Z 3U]HGPLRI GR Z\ERUX
2 1DU]aG]DQIH LQIRUPDFIa VSRIHFTHEVIZIH NRQZ NRQZ GUO,N
N NRQZ ~ GUKDE ™7]LZRNL GU BIXGQLFND ODUDEF]\N . DIDU]\QD =DICFLD RQ
= -XUD SURI 8- =DICFID - DURILQD =DICFID RQ UQH IQgH ~ +60 =
L RQUQH +60 = +60 =
N JRG]
=
™
04
©




